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Rond 1 Aug.
8. Gertie (1N)
6. CGX (20)
5. Bodil (2N)
3. Ove (10)
Rond 2

8. Gertie (1N)
2. Kjell (20)
1. Gittan (2N)
6. CGX (10)
Rond 3 Sept.
8. Gertie (1N)
5. Bodil (20)
4. Ingrid (2N)
2. Kjell (10)
Rond 4

8. Gertie (1N)
1. Gittan (20)
7. Karin (2N)
5. Bodil (10)
Rond 5 Okt.
8. Gertie (1N)
4. Ingrid (20)
3. Ove (2N)
1. Gittan (10)
Rond 6

8. Gertie (1N)
7. Karin (20)
6. CGX (2N)
4. Ingrid (10)
Rond 7 Nov.
8. Gertie (1N)
3. Ove (20)
2. Kjell (2N)
7. Karin (10)
Rond 8

8. Gertie (1N)
6. CGX (20)
5. Bodil (2N)
3. Ove (10)

Syskon
Ove (3)
Gertie (8)
Bodil (5)
Karin (7)
Ingrid (4)
CGX (6)
Gittan (1)
Kjell (2)

Ove
. Gittan (1S)
. Kjell (2V)
. Karin (2S)
. Ingrid (1V)

AN

. Ingrid (1S)

. Bodil (2V)

. Ove (2S)

. Karin (1V)
Bodil

. Karin (1S)

. Gittan (2V)

. CGX (2S)

. Ove (1V)
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. Ove (1S)

. Ingrid (2V)
. Kjell (2S)
.CGX (1V)

CGX

.CGX (1S)
. Karin (2V)
. Bodil (2S)
. Kjell (1V)
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. Kjell (18)

. Ove (2V)

. Gittan (2S)

. Bodil (1V)
Gertie

. Bodil (1S)

. CGX (2V)

. Ingrid (2S)

. Gittan (1V)
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1. Gittan (1S)
2. Kjell (2V)

7. Karin (2S)
4. Ingrid (1V)

Imp +

330
317
374
280
254
347
359
451

53
53

22
22
29
29

18
18
42
42

Imp -

348
361
304
398
424
331
319
227

53
53

29
29
22
22

41
41

42
42
18
18

39
39

18
18
29
29

30
30
36
36

18
18
32
32

Kvot
0,95
0,88
1,23
0,70
0,60
1,05
1,13
1,99

VP
172
167
196
150
132
179
189
233

25
25

13
13
17
17

18
18
12
12

16
16
14
14

19
19
11
11



Rond 9 Dec.
8. Gertie (1N)
2. Kjell (20)
1. Gittan (2N)
6. CGX (10)
Rond 10

8. Gertie (1N)
5. Bodil (20)
4. Ingrid (2N)
2.Kjell (10)

Rond 11 Jan.

8. Gertie (1N)
1. Gittan (20)
7. Karin (2N)
5. Bodil (10)
Rond 12

8. Gertie (1N)
4. Ingrid (20)
3. Ove (2N)
1. Gittan (10)

Rond 13 Feb.

8. Gertie (1N)
7. Karin (20)
6. CGX (2N)
4. Ingrid (10)
Rond 14

8. Gertie (1N)
3. Ove (20)
2. Kjell (2N)
7. Karin (10)

Gittan
. Ingrid (1S)
. Bodil (2V)
. Ove (2S)
. Karin (1V)

~N w oA

. Karin (1S)

. Gittan (2V)

. CGX (2S)

. Ove (1V)
Ingrid

. Ove (1S)

. Ingrid (2V)

. Kjell (2S)

.CGX (1V)
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.CGX (18)
. Karin (2V)
. Bodil (2S)
. Kjell (1V)
Karin
. Kjell (1S)
. Ove (2V)
. Gittan (2S)
. Bodil (1V)
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5. Bodil (1S)
6.CGX (2V)
4. Ingrid (2S)
1. Gittan (1V)

39
39
12
12

13
13
59
59

19
19
43
43

55
55

12
12
39
39

59
59
13
13

43
43
19
19

55
55



